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Answer any one of the following question. Each question carries 8 marks.
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12. Write down any 4 accounting concepts and 4 accounting conventions.
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13. Mr. Sunrise started a business for buying and selling of stationery with ¥ 5,00,000
as initial investment of which he paid ¥ 1,00,000 for furniture, ¥ 2,00,000 for
buying stationery items. He employed a sales person and clerk. At the end of the
month he paid % 5,000 as their salaries out of stationery bought, he sold some
stationery for ¥ 1,50,000 for cash and some other stationery for ¥ 1,00,000 on
credit basis to Mr. Ravi. Subsequently, he bought stationery items of ¥ 1,50,000

from Mr. Peace.
From the above, answer the following :

1) What is the amount of capital with which Mr. Sunrise started business ?

2) What are the fixed assets he bought ?
3) What is the value of the goods purchased ?
4) Who is the creditor and state the amount payable to him ?
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